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Paper - GE4T
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:The figures in the margin indicate full marks.
Candidates are required to give their answers
. in their own words as far as practicable.

Practical Electronics

Group - A
:1. Answer any five questions : 2x5=10
! (i) Write the characteristics of an ideal OPAMP.
(i) What is Arduino ?

(i) Why we should use Arduino ?

(iv) What is Phase Locked Loop (PLL)?

(v) What low pass filter is used in PLL ?
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(2)

(vi) What are the different types of multivibrator?

(vi) What are the applications of Schmitt Trigger?

(vil) What are active and passive filters ?

Group - B

2. Answer any four questions : 4x5=20

@

(i)

(aif)

@)

Explain the working principle of a Schmitt Trigger
using an OPAMP. 5

Discuss with suitable circuit diagram how an
Wien Bridge oscillator works using OPAMP.
243

Draw the circuit diagram of an adder using
OPAMP and find an expression for output
voltage, 2+3

Explain the construction, principal of working
and applications of Hall Effect transducer.

2%t
Write down the principal of operation of a phase
shift oscillator. 5

Explain the construction of semiconduetor strain
gauges and explain their advantages and
disadvantages. 3+1+1



| (3)

| Group-C

3. Answer any one question : 1x10=10

' () (@ Compute the output voltage V, of the
following circuit when input is V. = 0.5 sin

| 100nt.
AW
i 500
+12V
1KO
Vin(!_\; W _—
I + VO
! -12v

(b) Discuss how an OPAMP can be used as a
differentiator ? , 545

(i) (@ Draw and explain R-2R ladder D/A
converter. What is the advantages of R—2R

| ladder DAC over the DAC that uses binary
weighted resistors 7 2

' (b) A 10-bit DAC has a step size of 10mV.
! Determine the full scale output voltage and
i the percentage resolution. 3
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(4)
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L (6)

() OP-AMP fFena ettty fHe
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. (b) s 10-bit DAC @3 @I 4THAS
| 10mV t Adfera Besiife Reg o @
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Communication Systems
Group -A
1. Answer any five questions : 2x5=10
L (i) What do you mean by VSB AM signal ? |
(i) Explain the principle of operation of a rectifier

detector used for AM demodulation.

' (i) How can you generate a PPM signal using
PWM signal.



(5)

(i) wﬁ}wmﬁatﬁm@top-Aww
, mm%«mﬁ%@ﬁmmﬁwwwr
rd

2+3

(w)mﬁw?mwﬁam,wﬁ%w
ATA [N 7| 242+1

v) mﬁ@wﬁmﬁamwﬁ%mr

5

vi) wﬁﬂﬁmﬁ@?cmma«wvﬁme

SRS et 3+i+1
Reter-t

3. A TN 9 2rw Bag ma : 1x10=10

@(a)ﬁﬁ%waﬁa@wﬁ@ﬁwemw
T 0 R 27 V. = 0.55in100ms.
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| (7)

' (v) State the Shanon’s theorem.

| (v) Whatis QPSK ?

: (v) Why a mobile phone is often called cell phone ?
" (i) Name the modulation scheme used in TV.

 (viii) Wht do you mean by IMEI number of a mobile
! phone ?

Group - B
2. Answer any four questions : 4x5=20

() Discuss with suitable diagrams the principle of
operation of a PCM system. What is quantization

| error ? 4+1
I m2
. (@ ForaAM system prove that P, =P, 1+"‘2— .
I

5

(i) Discuss how can you demodulate FM signal
using a phase locked loop. 5

" () Explain the following terms in connection with
! satellite communication.
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(8)
(a) geostationary satellite

(b) look angles
(c) uplink and downlink frequencies
(d) cross link

(). Why is the downlink frequency less than
the uplink frequency ? 1+1+1+1+1=5

(v) Discuss how can you generate a PWM signal
using a mono stable multivibrator and a PAM

signal, 5

(v} Briefly explain with suitable diagram the
operational principles of TDMA and FDMA
system. 5

Group-C
3. Answer any one question : 1x10=10

() (a) With a neat sketch explain how a DSBSC-

AM signal can be generated using a ring
modulator.

(b) How can you generate SSB signal using a
phase-shift modulator. %5



(9)

() (a) Discuss the principle of operation of PSK,
FSK and ASK.

(b} Explain with proper diagram the working of

a cellular telephone system. 2+2+42+4
TR
o=
1. @ @ vl 20 Ger e Ixe=30

0 =% Eownre it Fottg AM feaftewna
| 3T e I Ol GG B!

@) o Feim w3t PWM e Iz a3
PPM Frsiprs Tefd <acae

i) AM ST (I VSB IS BRI 2
() T SoAsihg It 371
‘ (v) QPSK 3w & Q@e

(M) RRE @ & RIS G (P I T

YE @A
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( 10 )
(i) Gt cvg B B @ RSeErE
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& @rre
Group - B
2. @ A BiAf 2Taw Teg Ae " 4x5=20
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2 S
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e

(1)
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- | PAM FIs01a (908 PWM Bisipar tefd a0
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Group - C
3 (@ I a3 49T Ten Wi 1x10=10

0 (a) Toige o wmrars ff RSt @ g
f¥etta DSBSC-AM fisiite (o w2
S I F7
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| (b) Ty BeEns @ @F Feter
| IS [T 7| 5+5=10
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(12)

Microprocessor and Microcontroller System
Group- A
1. Answer any five questions : 2x5=10

() Find the hexadecimal equivalent for the decimal
number 12735 4.

(@) Calculate the address lines required for an 8k-
byte memory chip.

(i} Explain the function of the ALE signal of 8085

MiCroprocessor,

(iv) What do you understand by an instruction for
microprocessor ?

(v) Explain the term : ‘Machine cycle’ used in
MICTOProcessor.

(v) What is microcontrolier ?

(vii) How does 8051 provides 72-pin functionality
using its 40 pins ?

(vi) Distinguish between indexed and based
addressing,

2. Answer any four questions 4x5=20

(1) Draw the architecture of 8085 INiCrOProcessor.



(13)

(i) Explain with examples the unconditional CALL
and conditional CALL instruction.

(@) What are hardware and software interrupts ?
How the vector address for a software interrupt
is determined ? 2%+2Ys

(iv) Compare between memory mapped /O and I/
O mapped /0.

(v) How are different register banks are selected in
8051 ?

(Vi) Describe the different addressing modes of 8051.
Group-C

3. Answer any one question : 1x10=10

() (@ How the four control signals IOR, IOW,

MEMR and MEMW can be generated in
8085 microprocessor ? Draw the circuit.

(b) Why the above signals are required to be
generated ? Explain, 2V 2Y5H(243)

(i) (a) Differentiate microprocessor and
i microcontroller.
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( 14 )
(b) Draw the architecture of 8051

microcontroller and explain. 2+(4+4)
AR
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(15 )
2. (@ e o1 et Tea we 4x5=00
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' Group - C
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(16 )
(b) SotarE AFeal (@ Teom IWe e
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